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Instructions :

i)  All questions are compulsory.

ii) This question paper has two sections ‘A’ and ‘B’

iii) Section ‘A’ contdins 20 multiple choice type questions of 1 méjlrk
each that has to be answered on OMR Answer Sheet by darkening
completely the correct circle with blue or black ballpoint pen.

1iv) After giving answer ort OMR Answer Sheet do not cut or use erascr,
whitener etc.

vi) Total 8§ questions are there in this section.

v}  Section ‘B’ contains descriptive type questions of §0 m?
vii) In the beginning of each question it has been mcnhc@l ow mary

parts of it are to be attempted. 0
viii) Marks allotted to each question are mentionedg@gainst it
ix) Start from the first question and go up to,tifeN&aSt question. Do not

waste your time on the question you canfot
x) If you need place for rough work, d

book and cross ( x ) the page. D write the solution on that
page.
xi) Do not rub off the lines con
Do write the steps of co
xii) Draw neat and correc

is necessary, othe
incomplete and
6 qug - H
\Q ~ Section - A
\b ( wEfameity W )

9 ( Multiple Choice Type Questions )
Q A 117 % HCF 9 65p - 117 % ¥ § =% few 9@ A p ® w8 7

ed in a question of construction.
ion in brief, if asked.

e in solution of a question wherever it
its absence the solution will be treated

(A) 1 (B} 2

C) 3 | D) 4 1
1. IfHCF of 65 and 117 is expressed as 65p - 117, then the value of p will be

(A) 1 B) 2

(C) 3 - (D) 4 1
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2[911;5" % W13 A
l+tan“45°
(A) -1 (o (B)
(C) 1 (D)
2. The value of zm”;":’a will be
1+tan“ 45°
A) -1 (B)
€] 1 (D)

f3. 15, 18 3N 24 1 ®wowo §

(A) 90 (B)
©) 240 (D)

3. LCM. of 15, 18 and 24 is

(C) 240
185

4. 148 5 o v 3609

a2 2\0 (B)
(C) c (D)
4, Sigleat form of llg-g-i
4
(A) 3 | (B)

(C) (D)

NS
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5. p % fFa TR % o wlem 3x-y+8=0 MR 6x-py=16 wurd! w@rd faefm
sl K 2

(A) -2 B) 2
L L l
(C) : (D) 5
S. For which value of p, the equations 3x~y+8=0 &ﬂd& py=16
represents coincident lines ? 00
(A) -2 B 2 00
l O
o -3 1

N o) 2 ¥

3
c) =
oS S
6. If the lines reé?tcd by'3x+2py=2 and 2x+5y+1=0 are parallel,

thent_hevq@rpwﬂlbe
wée B -2
5
93 5
Qs o 3 1
7. qﬁlScot_G:B,ﬂ’lsinewmm
17 15
@ 1L B 18
8 15
© 2 o 1 1
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7.

10.

10.

s 822(IB)
[f 15cot0=8, then the value of sin 0 will be

A L7
A) 15 (B) %
c L
17 p L3
(©) 17 L

e ABC au
XYZﬁWﬁEH%W{A:?S“Gﬂ'{£Y=S7°€f,?ﬁ.£C$T

qH Bm
)

(A) 58°
(B) 48°
(C) 45° 0

(D) S4° 0
_ ¢ 1
If = =
ABC and XYZ are two similar triangles and <A &d ZY = 57°
7°, then

the value of £C will be

(A) 58° ' (B) 48®\0
(C) 45° [D]§ .

1
ﬁ%m(—s,ﬂﬁw@ﬁ@ﬁe@%\b

(A) S
€ Va9

The distance of the @%( 3, 4 ) from the origin is
\0 B) |
% (D) 1 1
ﬁ@sﬂe 6) 3 (-2, 10) I e a1t Yamavs & wer fawg & frdwiss &
(A) 2,8) B) (-2,5)

) 6

) (-2,3) (D) (0,2) !

The coordinates of the mid-point of the line segment made by joining the
points (- 2,6 )and (-2, 10) are

(A) (-2,8) (B) (-2,5)
(€) (-2,3) (D) (0,2) 1
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11

11,

12.

12.

13.

Reeft ek fingm asc W AR aDLBC N @ AD? wuwl ¥

(A) %CDJ (B) 4 cp?
() 2 cD? (D) 3CD? !

If AD1BC in an equilateral triangle ABC, then AD’ will be

@) % cp? B) 4CcD? . &

(C) 2 cD? (D)
WABC%W%%mmmsHsﬂ QQ?.}%M&BCt
e g DR, @ AD &) wm Fh 3‘6

(A) 4 ATIH (B)

(C) 6 W+ (D) 1

The vertices of triangle ABC ar% , (5, 7)and (- 3, 3) respectively. If
the mid-point of BCis D, Lhc measure of AD will be

(A} 4 units {B] S units

(C) 6 units

09
afe sec 0 =2 ® &\
{A) 90° \ (B) 60°
(C) 4 %

(D) 7 units 1

(D) 30° l

13 1r@ 2. then the value of 8 will be

a 90° (B) 60°

(C) 45° (D) 30° '
14. (cosec?0-cot?9)(1-cos’8) F WA R

(A} sec?0 (B) tan?®

(C} cosec?0 (D) sin°0
8000 /78
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14, The valuc of ( cosce?0 -cot? 0)(1-cos?0) is

(A sec?0 (B) tan?g

() cosec?0 (D)  sin?0 1
|5, @ TEIHR A F RN T Y gq A2 R, @ Ik anun ) Brsa @

(n) 3% | (B) 6 At &

©) ﬂ_ﬁ“ﬁ (D)

15, Area of the base of a right c1rcular cylinder is 9n ¢ &JS of its base
will be “6

(A) 3cm ﬁcm$\0

(€) 2cm (D) 4c0 L
16. 4%%@13@@%%@%3{1@3&@%%

(A) 64 [wh? - \@ 32 A2

C(©) 128 Afi? - 06 D) 256 a2

1

16. Area of the squar@ can be drawn in the circle of radius 4 cm will be
>

(A). 64 cmz® " B) 32cm?

) 1 2 (D) 256 cm? 1
17 T @ me g
71 - 3 3-5 | 57 | 79 | 9-11
TRARAT 4 2 1 3
A) 6 B) 62
(C) 66 (D) 68 .

l
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I'7." The mean from the following tabic will be

Class-interval | 3-5 S5-7 7-9 9-11

Frequency 4 2 1 3
(A) 6 (B) 62
(C) 66 (D) 68
I8. T R F tw Tw G aqwn 2, aqamm%mﬁﬁwm
(A) 1 (B)

1

3 65

o K

18. A dic is thrown once. The probablht:,@ ting a prime number will be

A1 | 1

(A) & :
2 E

© = (‘ 1 1
3 0 (D) 3

19. ‘Tﬁﬁﬁﬁaﬁﬁrﬁ@mzo-swmﬁm 21 B A I TETH B

205 6 B) 21

(C) 2 z (D) 22 _ 1
19, f a frequency dzstrlbutmn is 20-5 and median is 21 then mode

Q(J 20-5 (B) 21

(C) 21-5 (D) 22 f 1
20. frferfiea § & - fhe wem A st T @ wwdt 2 0

(A) 4/3 (B) 2/3

€ 1 (D) 3/5 ' 1
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A ‘1’3 B) 2/3
(C) (D) 3/5 :

T - §

Bedtlo:_:.—n

(vl wym ) - \Q
( Descriptive questions ) . o
| Wit @S wifeg - ' )
| .
(a) Ife CGtA‘:E, a ﬁla ﬂﬁﬂ{ﬁ; -—.______bscCA - qe 2
a _ acosecA=1' 6

(b) x%%ﬂmﬁam‘zx,;+am3x+1 | 4 w7 2

(c) ﬁ@ﬁﬁﬂﬁ 243 & R wen 3.
(d) T T H InEwE 729 w4 A

O -2
) @f‘{smmiﬁﬁm 2
[ﬂ/ﬁi(z"i"lm(-%ﬁ?&aﬁmﬁmﬁ1:2%3@13&

| ¥ fnfim =1 9=t ﬁ%ﬁ) 1 Bif) | 5
f treafafea agfi @ e 6 - | 2
| -3 0-10 | 1020 | 20-30 | 30-40 | 40-50
;E% 8 12 10 11 9
I. Do arts :
(a) cot’A =§-, then prove that %2%%= . | 2

(b) For which value of x the 2x, x + 8 and 3x + 1 will be in arithmetic

progression ?

2
() Prove that 23 is an irrational number. 2
(d) Volume of a cube is 729 cubic cm. Find its total surface area. 2
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(€) Find the co-ordinates of the point dividing the line segment formeg

by joining the points ( 2, - 3) and (-4, 6 ) in the ratio 1 : 2. 2
() Find the mean from the following frequency distribution : 2
Class-interval 0-10 | 10-20 | 20-30 30-40 40-50
Frequency 8 12 10 11 . 9
(@) %%(‘4,6)ﬁﬁaﬁA(—6,.1o)3ﬂIB(3,-8)Hﬁ%&'ﬁi‘@1@“§ﬁ
e srum 3 Renfe w2 - g 4

6 Tt 31 ga it = s Ay

(b) WHig AR, N0 * Hg @ 7-5%@@,%‘“@%@@?@@

4

© mm%mwﬁay&wﬁwammw

mﬁmﬁmw%@@

4

(d) aaﬁﬁ@mﬁa&‘&zﬁn 12 8| 37! 1 WM ¥¢d &4 W IH T&

A T e A 1 , A T §a iR

4
(e) FCIG ~11x+8J3=0 & & 3 ¥y 4
5t @ ArfedshT Fa hifs -4
0-10 10-20 20-30 30-40 40-50
2 8 20 15 5

2. Do any five parts :

(a) In which ratio, does the point (- 4, 6 ) divides the line segment made

by joining the points A(-6, 10) and B( 3,-8) ?
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centre of the circle is 6 cm. Find the radius of the circle. ?
() ?1'0""@ that the line dividing any two sides of a triangle in a same ratc
' parallel o the third side of the triangle. *
d S digi
(d) ‘ um of the digits of a two-digit number is 12. The number formed by
interchanging the digits is 18 more than original number. Find the
number. & 3
() Find the roots of the quadratic equation 31 1x+8J6 : 4
() Find the median from the following data - 0‘ +
Class-interval 0-10 10-20 20- 040 | 40-50

Frequcncy 2 8 15

v

Feehe €1 @ o B I IR
3 F T a9 FogOl 98 AAB FiA
6

o

3. U W, Ao F FHA * ¢ 30 @
lgﬁm%mﬁ'ﬁqﬁﬁma-s
g X

" o

§ T T ; 39§ 13 I awn wopt gw Aawd 90 x A2 § W
U Shifsa 6

3. A solj Qf the cylindrical shape and its both ends are hemispherical.

The t height of the solid is 19 cm and the radius of the cvlinder
IS A

@cm. Find the volume and total surface area of the solid.

-~

18

o
OR

Slant height of a right circular cone is 13 cm and its total surface area 's

90 n cm 2. Find the diameter of its base. o

8000/78
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4. 7T RA SN v ¥ R @ vE S G % @ B I A0 60° 8 3 gy

W2 F a0 450 2| Faet R B Har A FHC 6
arerat

¥4 g F1 I A o D 0 @ a2 A 4 Aol § @R O R o a ey

- 3iftrs R T 31w A e 0 A .

4. The anglc of elevation of the top of a cable tower from the Lo uilding

- of height 7 metre is 60° and the angle of depression of ilgottom 1S 45¢

Find the height of the cable tower. q 6

OR
When the angle of clevation of sun bcco@r om ¢, then the shadow of

a pillar situated in a horizontal plano:creascs by a metre. Find the

height of the pillar. « 'o | 6

5. amaﬁamzﬁvra%ammﬁ %%IWWWI 6

6"9

2l HATTA HTe mﬁﬁqﬁﬁaﬁmuﬁnsﬁs"éﬂ 6

5/ Sum o o numbers 1s 8 and sum of their inverses is -% Find the

S 6
OR

Find two consccutive positive integers whose sum of squares is 365. 6
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